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Do you remember how to find volume? 
What is the volume of this pool?

Volume

3 ft

12 ft 20 ft

Volume of a prism = area of the base × height

If the base is rectangular,
volume = length × width × height

Volume of the pool = 

20 × 12 × 3 =

720 ft3
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Volume of a cylinder

What if the base is not a rectangle? How could 
we find the volume this mug, for example?

2 in.

4 in.

How could we find the area of the base?

Area of a circle = πr2

Area of the base = π × 22 = π × 4
= 12.56 in.3

How could we use this to find 
the volume?

Volume = 12.56 × 4 = 50.24 in.3
We could multiply by the height.

The base is a circle, so:
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Can you think of a formula you could 
use to find the volume of any cylinder?

The volume of any cylinder can be found by multiplying the 
area of the cross section by the height of the cylinder.

Area of a circle = 

Volume =
h

r

V = πr2h

Volume of a cylinder

πr2

πr2 × height
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Each can of baked beans is a cylinder with a height of 11cm 
and a diameter of 7cm. Each can holds 400 g of beans. 
Each saucepan has a radius of 10 cm and a depth of 15 cm.
A catering company needs 25 kg of beans. 

How many cans should they buy? 
How many saucepans will they 

need to heat the beans?

Volume practice

25 kg = 25000 g

25000 ÷ 400 = 62.5 cans
Because they cannot buy half a can,
they should buy 63 cans to be sure they
have enough.
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Volume practice

We can find the volume of each can 
of beans:
V = πr2h = π × 3.52 ×11 =
π × 12.25 × 11 = 38.47 ×11 =
423.17 cm3

There are 63 cans, so 423.17 × 63 = 26659.71 cm3

of beans in total.

Each can of baked beans is a cylinder with a height of 11cm 
and a diameter of 7cm. Each can holds 400 g of beans. 
Each saucepan has a radius of 10 cm and a depth of 15 cm.

How many saucepans do they 
need to heat the 25kg of beans?
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Volume practice

We can also find the volume of 
each saucepan:
V = πr2h = π102 × 15 = 100π × 15 =
314 × 15 = 4710 cm3

We can then divide to find how many 
they would need:
26659.71 ÷ 4710 = 5.66 They would need 6 saucepans

How many saucepans do they 
need to heat the 25kg of beans?

Each can of baked beans is a cylinder with a height of 11cm 
and a diameter of 7cm. Each can holds 400 g of beans. 
Each saucepan has a radius of 10 cm and a depth of 15 cm.
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Volume of a cone
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Volume of a sphere
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Recognizing the formulas
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Silver costs 50¢ per cm3. How much cheaper would 
it be to make the prism rather than the cylinder?

r = 3cm
h = 10cm

A jeweler sells silver paperweights, which are priced according 
to their volume; the greater the volume, the greater the cost. 

b = 4cm,  h = 3cm,  
l = 15cm

r = 2cm,  h = 8cm

Which paperweight is the most 
expensive and which is the cheapest?

Paperweights
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Crystal ball
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